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Question Number : 1 Question Id : 5447341 Display Question Number : Yes Is Question
Mandatory : No

Letf:R = R and g:R - R bedefined by f(x) = 2x + 1 & g(x) = x? - 2 determine (gof)(x) =

f:R - R 20003 g:R - R H00srod f(x) =2x +1 &80 g(x) =x*-21F 305:';)?_9 (gof)(x) =

Options :

5. 3 :
1 % e e
5 4x% +4x — 1
3 % 4x2 +4x+1
4% 2x%—4

Question Number : 2 Question Id : 5447342 Display Question Number : Yes Is Question
Mandatory : No
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I_I_ —X

Given the function f(x) = = (a>2)thenf(x +y)+f(x—y)isequalto

a*+a*

[ oR pdookrdy. f(x) = ) (a>2)m™ @C}am‘am fx+y)+flx—y)®
RAFHROHG

Options :

e W
Lo fO)
L o 2F0) FO)

\x FOF)

Question Number : 3 Question Id : 5447343 Display Question Number : Yes Is Question
Mandatory : No

If f is a function defined on (0,1) by f(x) = min{x — [x], —x — [x]} . then (fofofof)(x) is

equal to ( [.] ereatest infeger function )

(0,1) e9oc86e) f 0 Havado . f(x) = min{x - [x], —x - [x]} :365:3?_._3 (fofofof)(x)
& a0 ([.] 103 376 ons Hivain )

Options :

1.¢ %
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4. % o

Question Number : 4 Question Id : 5447344 Display Question Number : Yes Is Question
Mandatory : No

n € N then the statement 8n + 16 < 2" is true for

nENeond 8n+ 16 = 2" dadw s=Tuct)

Options:
S
- n=2e::a°5§}
ji==3
= 3 eo3®
2. = & 5
=
n==6eod
3. % 5
1. =5
L nzS@;‘*SE)

Question Number : 5 Question Id : 5447345 Display Question Number : Yes Is Question
Mandatory : No
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T =8 1
The equation whose roots are the values of theequation | 1 6 4 [=01s
¥ 3
1 -3 1
1 6 4 |=0ed 080030 Foden, HrUrenrrie DAEEHIN
I 3& 3
Options :
B e 1
1 % X +x+2=0
5 % x24+x—-2=0

Question Number : 6 Question Id : 5447346 Display Question Number : Yes Is Question
Mandatory : No

' a _b T
Let a, b be non zero real numbers such that ab = 5/2 and given 4 = e andAA" =

20 I (I 1s a unit matrix). then the equation whose roots are @ and b is

a —b
b a
@oiJéng“nnﬁ. a, b o darereorio ag HOESERAD

a,b e D PR ab =5/2 epdr. A = od ards AAT =201

Options:

1 % x2F10x+5=0

RN DU T S
2.\&,21 + 10x4-56 =0
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5
x° —bx +?_U

5 5
xP —25x +==0
4, % 2

Question Number : 7 Question Id : 5447347 Display Question Number : Yes Is Question
Mandatory : No

1 -1 1 4 2 2
fA=[2 1 -3|.10B=|-5 0 «|andB = A" then the value of @ is
1 A 1 1 =2 3
1 -1 1 4 2
A=|2 1 -3|.10B=|-5 0 @280 58 =4"eand a Jend Jod?
T 1 ik 1 -2 3
Options :
1. % 2
2. % 0
3. % 5
4, % 4

Question Number : 8 Question Id : 5447348 Display Question Number : Yes Is Question
Mandatory : No
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4 2 (1—x)
The rank of thematnx | 5 k& 1 15 1. then
6 3 (14x)
4 2 (1-—2x)
5 k 1 09D Jras §¢ 1 evond,
6 3 (1+x)
Options
1
k e — = _x_' :?
1. ¢
L 1
=i
2. ® >
5 1 5
— " _‘K: e —
3 % 5 2
3 1
ey o T
4. 23 2 5

Question Number : 9 Question Id : 5447349 Display Question Number : Yes Is Question
Mandatory : No

loga; loga, logas
are in G.P. then |loga, logas logag | isequal to
loga, logag logag

Ifa, ,a,,..a

S | 9

loga, loga, logas
L0y, g 0O (R3AS° &oll. |loga, logas logag | Dewsd
loga; logag logag

a

Options :
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log(a, ,a;,...a,)

{:lc}g ﬂ-a.} 2

Question Number : 10 Question Id : 54473410 Display Question Number : Yes Is Question
Mandatory : No

(sinB —icos0)? is equal to
(sinB —icos )’ £ PATIIE
Options :

i* (cos 36 + isin36)

1. %

cos 360 + isin 36

sin36 —icos 36

3. %

4 (—i)” (cos 30 + isin 30)

Question Number : 11 Question Id : 54473411 Display Question Number : Yes Is Question
Mandatory : No
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Real part of (cos 4 + i sin4 + 1)%%%° is

(cos4 + isin4 + 1)%°%°

), TV WA
Options :
- 22020 552920 2 (552020

> 22020 552020 5 554040

3 % 21020 552020 5 554040

4 % 22020 152020 1 (452020

Question Number : 12 Question Id : 54473412 Display Question Number : Yes Is Question
Mandatory : No

If (x? + 5x 4 5)** = 1 then the number of integers satisfying this equation is
(x% +5x + 5)""° = 1 2a0S0rrD) vody 008 x LPTOT D) Gokrow ?

Options :

1.%2
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Question Number : 13 Question Id : 54473413 Display Question Number : Yes Is Question
Mandatory : No

Let f(x) = x° + ax® 4 bx + ¢ be polynomial with integer coefficients. If the roots of f(x)

are integer and are m Arithmetic Progression. then ‘a’ cannot take the value

FO0) =2 +ax’ 4 bx + ¢ 03 v dwe), Mg RPgopjen. () = 0 dws)
APVANW YT 08, 0os3Ce o, ‘0’ D PNAPHo ST Dewd

Options :
—642

1. %

1214

5 % 1323

1626

Question Number : 14 Question Id : 54473414 Display Question Number : Yes Is Question
Mandatory : No

The sum of the roots of the equation et —10e* +29¢% — 226" + 4 = 0 is

e — 10e% 42967 — 226" + 4 = 0 HDEdR) Larere ASAw

Options :
| % log, 10

5 & 2log, 2
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log, 29

3. %

2 lﬂglﬂ 2

Question Number : 15 Question Id : 54473415 Display Question Number : Yes Is Question
Mandatory : No

If a person has 3 coins of different denominations. the number of different sums can be formed 15

28 378 Surchy 36 D60 Densdew o TEAWL) 80 &7 0. & TE2VVS 6E A6

Q000 ;’ooa,.':5
Options :
1.% 3

2. 7

3.% 8

4. % 3!

Question Number : 16 Question Id : 54473416 Display Question Number : Yes Is Question
Mandatory : No

There are 7 identical white balls and 3 1dentical black balls, The number of distinguishable

arrangements n a row of all the balls, so that no two black balls are adjacent 1

8 0S20R 7 SR Lodorn 00 3 YR Wodue &T7) 00. o AV Lodowd
08) 99N TRE J) DBV 28 HEWS” 08\ fdn?

Options:
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% 120

89.(81

42 x 5%

Question Number : 17 Question Id : 54473417 Display Question Number : Yes Is Question
Mandatory : No

The number of ways of distributing eight identical rings fo three different girls so that every

girl gets at least one ring 1s

28 wdr)ons 20 wé Gorido SR . QMG B3| 0008, 28 BN 8
EoiBAVR D) D20 Dotiiudn
Options :

1_\_‘,‘,,21

, % 120

BPE

L “Pyr—8

Question Number : 18 Question Id : 54473418 Display Question Number : Yes Is Question
Mandatory : No
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o g B B
Iim—f(X)+x_1+x_2.tile11

x3

A B
(x—1)(x—-2) fO) + e e e

Options:

- flx)=x*—3x+7

flx)=x2+3x+7

2.9
L x AtB=17
.« A—B=-18

Question Number : 19 Question Id : 54473419 Display Question Number : Yes Is Question
Mandatory : No

Tan 2a. Tan(30° — @) + Tan 2. Tan(60° — @) + Tan(60° — a). Tan(30° — a) is equal to

Tan 2a. Tan(30° — @) + Tan 2. Tan(60° — @) + Tan(60° — «). Tan(30° — @) Qewd
DAPIHG

Options :

1 % tanda

5 % tan® 2a — tan® 60°

3.¢
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Question Number : 20 Question Id : 54473420 Display Question Number : Yes Is Question

Mandatory : No

If sin @ — cos @ = m and sin 2a = n —m?. where =2 < m < /2. then ‘n’ is equal to

V2<m<y2 0D sin e — cos @ = m HBakw sin 2a = n —m? ewowd n’
QeS8 RATANNE
Options:

1% 0

Question Number : 21 Question Id : 54473421 Display Question Number : Yes Is Question
Mandatory : No

The value of “x” satisfying the equation 3 cosec x = 4 sin x are

3 cosec x = 4 sin x VDIGEFYY ByBDOB x* B, Dewdew

Options :
T T
— —
1. % "
2. %
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T

i_

6
T
i_
3.v 3
T i
*E
4% 3 4

Question Number : 22 Question Id : 54473422 Display Question Number : Yes Is Question
Mandatory : No

If Tan™? [m] + Tan™? L:m] + 4 Tan™ [m] =tan Y x]. thenx =

: -1 S | | —
Tan™ [1+12]+Tan [1+23]+ ++ Tan [HH{H_I,J—tan [x] wo0d x =

Options :
1
n+1

1n
n+1

n+2

n
n+2
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Question Number : 23 Question Id : 54473423 Display Question Number : Yes Is Question
Mandatory : No

If sinhu = tan 6. then cosh u is equal to

sinhu = tan f. ©@o00& cosh u 5 VIATHDIE

Options :

1 % —secH

sec

sin @

cot 8

Question Number : 24 Question Id : 54473424 Display Question Number : Yes Is Question

Mandatory : No

3
In a triangle ABC,ifa =3,b =4 and sin4 = T then ZCBA =7

3
Hz02500 ABC 8" a =3,b = 4 H0Bodw sin 4 :Tﬂ:?cmé LCBA =7

Options :
60"

1. %
75"

90°

45°

AP EAPCET 2021



AP EAPCET 2021

Question Number : 25 Question Id : 54473425 Display Question Number : Yes Is Question
Mandatory : No

In AABC. A = 75° B = 45° then the value of b + ¢v2 =

ABC Qz002306° 4 = 75°, B = 45° @and b+ V2 =

Options :

1.% 4

23330;

2a

4 % da

Question Number : 26 Question Id : 54473426 Display Question Number : Yes Is Question
Mandatory : No

In AABC. suppose the radius of the circle opposite to an angle A 1s denoted by ;. sinularly

1y & angle B. ry & angle C. If *r” 1s the radius of nscribed circle then, what is the value of
ab-ry 1y

g

28 Q20230 ABC & 1y, 15,13 0 BT 4, B, € S0 e o wﬂ’mé )

b =
T GR0e, T 0086 98 TFEAY eavd, - :1 2 Do dods?
3
Options:
1% L
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Question Number : 27 Question Id : 54473427 Display Question Number : Yes Is Question
Mandatory : No

A vector makes equal angles @ with x and y axes and 90° with z — axis. Then a =

28 20% 1, v 085008 DATHT o Enhw P z wgans 90° el 8 ¢ =

Options :

60° or 120°

1. %

5 % 30% or 150°

Ko . oo
3 45° or 135

90°

Question Number : 28 Question Id : 54473428 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Angle made by the position vector of the point (5, —4, —3) with the positive direction of X —
axis 1s

X 05w g8 838 (5,-4,-3) 03 DohdP gva 26% 32 Sndw

Options :
T

2

3.v %

Question Number : 29 Question Id : 54473429 Display Question Number : Yes Is Question
Mandatory : No

If D,E and F are respectively mid points of AB, AC and BC in A ABC, then BE +4F is equal to

QZaA06" D, E 208050 F a0 S8R AB, AC 208030 BC © .‘.1)(55 DotHVA ATU
e BE + AF =
Options :

DC
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j
— EBF
3. % 2
1.
—DC
g |
4 % =

Question Number : 30 Question Id : 54473430 Display Question Number : Yes Is Question
Mandatory : No

If the volume of the parallelopiped formed by the vectors i +aj + k. j +akandai + k
becomes minimum. then a =

T4aj+k ) +akdowai + k voto8 D6yE Pareds Hug0 W0BArHD
SAIYYD @ =

Options :

1
/3
2.9

2
3. % V3

2
3

Question Number : 31 Question Id : 54473431 Display Question Number : Yes Is Question
Mandatory : No
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3 . — 2i+2]-k e BB ey B
Ifa = T k. b == thenangle betweena + b anda’ — b s

=1

w = 2i¥27-k
R e

le

a @mé.a—.+FmﬁcﬁnE’—Fﬂvmcﬁéﬁﬁmm

Options :
1 % 45°

2.9 0

o x 30°

60°

Question Number : 32 Question Id : 54473432 Display Question Number : Yes Is Question

Mandatory : No
Leta =1+ +k b=1+ 3] +5kandc =717 +9] + 11k then the area of
parallelogram having diagonals @ + bandb +¢ is

—

=i+ + kb =i 43]+5kNBoswT =71 +9] +11k w00 T +b

Lok
e

20800 b +7 o ST Bdin STUlA0=
Options :

1 4+/6 sqg. units

5 % 2+/6 sq. units

3 % \/6 sq. units
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4 % 6v/6 sq. units

Question Number : 33 Question Id : 54473433 Display Question Number : Yes Is Question
Mandatory : No

Fa=2i+]+3k b =17+3] — kand? =37 — j — 2 then the value of
@ T.h T.T

b.a b.b b.T|"

c.a ©.b T.e

T=21+ 43k b=1+3] - k0o =37 -] — 2% eowd

s) o a)
o 2| 8|
f":.l t:“l"._'l|
SRS
ol o 8

g9

e

bl 3

Options :
1 % 2020

5 2025

5 % 2030

1849

Question Number : 34 Question Id : 54473434 Display Question Number : Yes Is Question
Mandatory : No
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If @ and b are two vectors such that | a | = 2. | b | =3anda +tbanda —tbh are

perpendicular, where ‘t” is a positive scalar. then

T.b edfte |T[=2]b | =3 odbjpiwed. T+t 26w T —th w0 vowdiiw,
Band ‘t’ 03 GTY)S H2 D Jod?

Options :
e
1. #
pu b
2. % ?
2
3.¢¥ =
X
4, ® 2

Question Number : 35 Question Id : 54473435 Display Question Number : Yes Is Question

Mandatory : No

The variance of the variates 112,116, 120, 125, 132 about their A M 15
112,116,120,125, 132 sooiow E}o&‘,mc;’:éw:)rl EDAr o) DS Qe Budoed.

Options :

.« 588

. 60

2

, v 488
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61.8

Question Number : 36 Question Id : 54473436 Display Question Number : Yes Is Question
Mandatory : No

Which of the following set of data has least standard deviation?
& 208 BTroT VS D BTreTIS £ FATHE IBVVDAD Eod?

Options :
“ 10,20,30,40

, % 2.4,6,8

3 % 3,6,9,12

4 v 12,34

Question Number : 37 Question Id : 54473437 Display Question Number : Yes Is Question
Mandatory : No

12 balls are distributed among 3 boxes, then the probability that the fust box will contam 3 balls 15

12 82080080 SERM 3 H00E" GeTE. ©YYE 26 D" 3 eodord Gotl 200 Rozr [

Options :
12 9
G, B2
12
1.¢ 3
2. %
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2 wp?
3
31{!
12
CS
12
3. % 3
12
EB
10
4% 3

Question Number : 38 Question Id : 54473438 Display Question Number : Yes Is Question
Mandatory : No

If the letters of the word REGULATIONS be arranged m such a way that relative positions of
the letters of the word GULATIONS remain the same then the probability that there are exactly
4 letters between R and E s

REGULATIONS &3 5806 R 080k E © DJ!S,':& aﬂa@;ﬁnﬁ“ 4 0ET"W Golar
GULATIONS &9 eogte s g"mw 2FG8E" Ddbé. 90050 VRN “'cooa;"’;ﬁlgé

Options :
3

% 55
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Question Number : 39 Question Id : 54473439 Display Question Number : Yes Is Question
Mandatory : No

A random variable X has the probability distribution

X 1 2 3 E 5 6 7 8
P(X)]| 015 | 023 | 0.12 | 0.10 | 0.20 | 0.08 | 0.07 | 0.05

For the events E = {X isa prime number} and F = {X < 4} then P(EU F) is

QIey B S WOT"R & $od Doy DTFRTAY <9A &) 8.

X 1 2 3 4 5 6 7 8
P(X)| 015 | 0.23 | 0.12 | 0.10 | 0.20 | 0.08 | 0.07 | 0.05

Ry owden E = {X 95 202 } 208080 F ={X < 4}oe P(EUF)

Options :

v 077
0.87

2. %

5 % 0.35

Question Number : 40 Question Id : 54473440 Display Question Number : Yes Is Question
Mandatory : No
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A die 1s tossed thrice. If event of getting an even number is a success, then the probability of
getting af least 2 successes is
28 UG 3 T ADEIVTH. TS A0S P80 T MDY ARAR)

€9%0 2 20w THFIE fo o0

Options :

Question Number : 41 Question Id : 54473441 Display Question Number : Yes Is Question

Mandatory : No

If the axes are rotated through an angle 45°. the coordinates of the point ( 22, —3\;@) in the

new system are

e 45° §1a0 om0 Bk Ared (58 @iy (2v2,-3V2 ) Dotos) atogy §¢

AErHTeD

Options :

L (3v3,-5)
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(1,5
- (51,-@,—7’)
e, (7,—V3)

Question Number : 42 Question Id : 54473442 Display Question Number : Yes Is Question

Mandatory : No

The sum of the squares of the intercepts made the line 5x — 2y = 10 on the co-ordinate axes
equals

5x — 2y = 10 &3 2098 ArasEud 82 Bosdnctw T OT°0 2B
Options :

1'\.‘,,29'

4 % 100

Question Number : 43 Question Id : 54473443 Display Question Number : Yes Is Question
Mandatory : No
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For three consecutive odd integers a. b and c. if the variable line ax + by 4 ¢ = 0 always

passes through the point (@, 8). the value of @® + % equals

Q. b. ¢ @ 20rcd S B PG Doiww BN, QBT Wo¥dD ax + by +c=0
VDNEP () Docidiy) thor TS, o + 7 Dewd

Options :

1.339

Question Number : 44 Question Id : 54473444 Display Question Number : Yes Is Question
Mandatory : No

The line which is parallel to x-axis and crosses the curve y = yx at an angle of 45° is

x-28 DAFOSEIIT oty v = |1 3572 45° Enawd S8t G debsmdw

Options :
1
F="y
1. % W
.
2.¢ z
30 ¥=1
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= 8

Question Number : 45 Question Id : 54473445 Display Question Number : Yes Is Question
Mandatory : No

If 2x 4 3y + 4 = 0 s the perpendicular bisector of the line segment joining the points
A(1,2) and B(a, £). then the value of 13a + 136 equals

A(1,2) 280t B(a, ) Doty £02 8 pocan C08), VoRRMB(Pot B 21 +
3y+4=0e008, 13z + 135 dewsd

Options :

1 ¢ —81

. —99
99

81

Question Number : 46 Question Id : 54473446 Display Question Number : Yes Is Question
Mandatory : No

The equation of the pair of straight lines perpendicular to the pair 2x% + 3xy + 2y% + 10x +
5y = 0 and passing though the origin is

SureDotia) thor Tar 2u% +3xy + 29" + 101 + 5y = 0 Sarabom) I8 vondwr
08 Garasur, AT
Options :

2x* + 5xy +2y%2 =0

1. %
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Question Number : 47 Question Id : 54473447 Display Question Number : Yes Is Question
Mandatory : No

If the centroid of the triangle formed by the lines 2y® + 5xy — 3x%> = O and x + y = k is

1 11
(—, —)‘ then the value of 'k’ equals
18 18 T =

2% + 5y — 3x% = 0 208010 x +y = k A0V D568 Gz E), So@Eran

111 -
(E’E) eod, k' Dend

Options:

Question Number : 48 Question Id : 54473448 Display Question Number : Yes Is Question

Mandatory : No
AP EAPCET 2021
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If ‘my and “m,". (my > m,) are the slopes of the lines represented by 5x? — 8xy + 3y% = 0.

then m, : m; equals

5x2 — 8y + 377 = 0 0 oEdms Arotd Gaw Trw0wy ‘m,’ Ba) ‘M, e ©ad,

my im, = (my >m,)

Options:

1% 5l

4% SF2

Question Number : 49 Question Id : 54473449 Display Question Number : Yes Is Question
Mandatory : No

If the slope of one of the lines represented by ax® + 2hxy + by? = 0 is the square of the other
atbh 8
SN _|_ kA (.

h ab

then.

ax® + 2hxy + by? = 0 Hebgoeman rdoid avs 28 89 aog), Tew DB B g

8h2
__|__
h

Jend bd.ﬁn e9008.

Options :

1. % 3

AP EAPCET 2021



AP EAPCET 2021

Question Number : 50 Question Id : 54473450 Display Question Number : Yes Is Question
Mandatory : No

Find the equations of the tangents drawn to the circle x + y = 50 at the points where the

line x + 7 = 0 meets it.

x+7 = 03688 x° + y° = 50 ST Docod Dothw I¢ &8 HgAS Hidd HydGaw
“éderen

Options :

1 7x+y+50=0 & 7x -l 50 —10

5 % x+y=0 & x—y=20

. X+ Ayt d =8 & v=i¥x 15Nl

n x4+ Ty$+50=10 & =Ty} 50=0

Question Number : 51 Question Id : 54473451 Display Question Number : Yes Is Question
Mandatory : No

If the chord of contact of tangents from a point on the circle ¥® + y* = 1% to the circle x* +

v? = 1,2 touches the circle x% + v% = 3% then ry, 1,13 are in

¥ 492 = 1,7 5,850 08 Do, 12 412 = 1,° 03 dydo ﬁg,g“é gy &, «F 4yl =
13 3,08 0\6) Ba e, O 13,7, 73 0 &’ et
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Options :
AP
e908 3G

HP
STd) S 3

GP
e 36

AGP

4 % e908 e 36

Question Number : 52 Question Id : 54473452 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of the circle passing through (1,—2) and touching the x-axis at (3, 0).

(1,-2) Doty ot T, X-0E) (3,0) Dot e Ry Bowd B 28 Beas0:

Options :

- P +yP+6x—4y—9=0

5 % xP+yi—6x—4v+9=0

3 2 X +y?—6x—4y—9=0

4o X +yP—6x+4y+9=0
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Question Number : 53 Question Id : 54473453 Display Question Number : Yes Is Question
Mandatory : No

Let L;be a straight line passing through the origin and L, be the straight line x + y = 1. If the
intercepts made by the circle x* + y* — x + 3y = 0 on L, and L, are equal, then which of the

following equations represent Ly

L, 093 28 B9 Sure Dot et Ycdded dudadw L, 8 PeEGEAD X + y=146&
Oott) B0 X% + y2 — x + 3y = 0 3w SDGDGES £90S36DOTmL) DAFHN, & S0l
TOS D gy L, 9 2rddrow

Options :

x4y =0& x4+ Ty=0

1. %

x—ap=08 x+ Ty=>0

2.9
=Ty ) & r4y=10

3. % ’

4% x—= 1y =0 & x—y =i

Question Number : 54 Question Id : 54473454 Display Question Number : Yes Is Question
Mandatory : No

The radius of the circle whose center lies at (1, 2). while cutting the circle x? + y2 + 4x +

16y — 30 = 0 orthogonally. i units.

2+ %+ 4+ 16y — 30 = 0 $5°0) wotxdyeido B, (1,2) 36 Som) £9A% a0
sy, 355“8:113 VA

Options :

1,-"' 41

1. %

AP EAPCET 2021



AP EAPCET 2021

Question Number : 55 Question Id : 54473455 Display Question Number : Yes Is Question
Mandatory : No

The point which has the same power with respect to each of the circles x* + y* — 8x + 40 =
0.x* 4y —5x+16 = 0and x* + y* —Bx $16y + 160 = 0 is

2+ -8r+40=0.x* +y2 - 5x + 16 = 0 8ot x> +y* —8x + 16y + 160 =0
ST ‘30‘3?,5 806 ) Doty A0E), DoGHBD VATAN?

Options :

=%
(e
1, % 2
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Question Number : 56 Question Id : 54473456 Display Question Number : Yes Is Question
Mandatory : No

If one end of focal chord of the parabola y? = 8x is (% 2). then the length of the focal chord

15 units

y? = 8x Dordwab) T & cansb 2,8 QS0 (%, 2) BONA, %) ) & TEH
QAL

Options :
625
4

5
2. % V2

Question Number : 57 Question Id : 54473457 Display Question Number : Yes Is Question
Mandatory : No

2 2
If a point P(x, v) moves along the ellipse j—s +f—6 = 1 and 1f ¢ 15 the center of the ellipse. then

the sum of maximum and mimmum values of CP 15

2 2
¢ BogurT o w8 B 9,850 —+7-= 1 8 Do) P(x,) 38k 6. eyt CP
03¢, (164 S0Bat §33 Densse Ay

Options :
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Question Number : 58 Question Id : 54473458 Display Question Number : Yes Is Question

Mandatory : No
xz 2
The asymptotes of the hyperbola = 7k 1. with any tangent to the hyperbola form a

triangle whose area is a® tan(e). Then ifs eccentricity equals

xZ 2

=L | watosucirds do DA :'ohd;)ﬁaaée . & 9308700 B 2608 Szha)

at b2

DTV a* tan() ond. & BAVTIVAD &) 0¢d

Options:

sec(a)
. cosec(a)

3 % sec’(a)

cosec?(a)

Question Number : 59 Question Id : 54473459 Display Question Number : Yes Is Question
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Mandatory : No

The ratio in which the YZ-plane divides the line joining (2,4,5) and (3,5, —4) i3

(2,4,5) 28050 (3,5,—4) Dothd:Poio $D2 Saraeted) VZ-dve dor ek

Options :

2 1 3 mnternally
1 % 213 esodSorT

3 : 2 mternally

5 % 3! 2 e9odborm
3 : 2 externally
3 x 372 eFoyorT

2 : 3 externally

2 g EJ"IJ'-‘éoT‘T“
4.

Question Number : 60 Question Id : 54473460 Display Question Number : Yes Is Question
Mandatory : No

The direction cosines of a line which makes equal angles with the co-ordnate axes are

Arosrod HArd Soren B 6 65 §asw

Options:
{ F & =F }
1 % V3 43743
=1 =4 =
( )
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(11 +1 il}

3 ¢ x? ’ x-"?t \g
{12 5 \
13 13

Question Number : 61 Question Id : 54473461 Display Question Number : Yes Is Question
Mandatory : No

Let ‘0" be the origin and ‘P” be a point which 1s at a distance of 3 units from the origin. If the

direction ratios of OP are (1,—2,—2). then the coordinates of ‘P” are

Aredotng) ‘0" Aow) 3 OrAL GrEANS" ‘P’ Do) Erﬁl& 208030 OP 011)5& &S
Ro[en (1,-2,-2) ®ond, ‘P’ a8, AFIELW
Options:

1 (1. —2,=2)

Question Number : 62 Question Id : 54473462 Display Question Number : Yes Is Question
Mandatory : No
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zilﬁj =9

z!lini 276 —1

Options :

1% 1L

Question Number : 63 Question Id : 54473463 Display Question Number : Yes Is Question
Mandatory : No
72 —9* —8* 41
Flx) =4 V2—v1+cosx
klog2log3 ; x-=0

; "

Find the value of ‘k’ for which the function f is continuous.
'k dios), 2 DRI D PEEEBANS ArDoBwE f 9DD\D) 2200A?

Options :

s

1% V2

, x 24
L x 18V3

4 24V 2
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Question Number : 64 Question Id : 54473464 Display Question Number : Yes Is Question

Mandatory : No

If the function £ (x), defined below is continuous in the iterval [0, 7). then

SoB DA ;’)dsé)o‘bm&é f(x) 2do0haw [0, 7] eoddans wmt)élmané}. )

2 n
x+ay2(siny) , 0<x< o
i A
flx) = 2x(cotx)+h , —sx<s—
4 2
. T
a(cos 2x) — b(sinx) 7-:.'.1 el
Options :
T T
g=— h=—
- 6 12
—TT
- 6 12
—1T —7T
a S — o
- 6 12
—7T
@ = =—
4w 6 12

Question Number : 65 Question Id : 54473465 Display Question Number : Yes Is Question
Mandatory : No
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|
Hy=x¥ = then which among the following holds?

1
y=x+_ 03, DN Sob TS IO D!

Options :

, x XY +xy=0

2y '+xy+2=0

2 %
3 @ 2y —xy+2=0
4 23 12}11' _!_ __1{"'}:' —_ 2 o— 0

Question Number : 66 Question Id : 54473466 Display Question Number : Yes Is Question
Mandatory : No

."1+ 2 4 ,u|'|1_ 2 - d
Hy=Tan * s —— | . where x? = 1. Then find —
V1+x?2 —v/1—x2 dx
Vitx2 +1—x2 d
¥2<1&y="Tan ! al ad 29008, = =
Vidxe —Al-x* dx
Options :
ik .. 4
— +—Cos™1(x?)
12 4 2
T :
—i e T )
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VI —x%

Question Number : 67 Question Id : 54473467 Display Question Number : Yes Is Question

Mandatory : No
. dy .
If 3sinxy + 4cosxy = 5. then PRl equal to
— dy
3sinxy + 4cosxy = 5 @00d. - oD

Options :

3sinxy + 4 cos xy

3cosxy —4sinxy

3cosxy + 4sinxy

4 cosxy — 3sinxy

—V

Question Number : 68 Question Id : 54473468 Display Question Number : Yes Is Question

Mandatory : No
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—— +1
fx)=vx2+1; glx) = ;:2_+1 h(x) = 2x — 3. Then the value off"[fz'(g'(.\'))] =
. — x+1 f AER '
flx)=vx?+1; glx) = ETL h(x) =2x — 3 wond. f [h (g (x))] 0D
Options :
1. % L
2
\5
2. %
V5
3. % 2
1
4% V2

Question Number : 69 Question Id : 54473469 Display Question Number : Yes Is Question

Mandatory : No

If the error committed in measuring the radius of a circle 1s 0.05 %. then the corresponding

error i calculating its area would be

28 5)89) aﬂéb‘g“?:}l Suddod” B 0.05 % Land. o 37efo ol Sevrd
SREW

Options :

. % 0.05%

2
5 % 0.0025 %
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. 0.25%

v 0.1%

Question Number : 70 Question Id : 54473470 Display Question Number : Yes Is Question

Mandatory : No

4

The stationary points of the curve y = 8x* — x* — 4 are

y=8x% —x* — 4 oS Hgaw o0E), ;jgo (620 e0d() Dot DBornd.

Options :

. (0,-4),(-1,2),(2,12)

3

4. % (0,4),(—1,2),(1,2)

Question Number : 71 Question Id : 54473471 Display Question Number : Yes Is Question

Mandatory : No
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Which statement among the following is true?
(1)  The function f(x) = x|x| is strictly increasing on R — {0}.
(i) The function f(x) = log,, Pt is strictly increasing on (0, o).
(111) A one-one function is always an increasing function.
(iv) f(x) = x'/3 is strictly decreasing on R
$o0d DIDIT LS DA *&:ej]g;ﬁn‘?
1) f(x) = x|x] HDoDHBAL R — {0} &5° S es8 e,
(1) f(x) = log ;) x HDooLED (0,00) &5° LN es8 Seasd00.
(i) DS DAODLAW JYIDET 6 HACHDW.
(iv) R & f(x) = x1/? 306 0058 e Hdoahaw.

Options :

1w D
5w (D
o s (i)

4. % (iv)

Question Number : 72 Question Id : 54473472 Display Question Number : Yes Is Question
Mandatory : No

For which value(s) of ‘a’, f(x) = —x® 4 4ax? + 2x — 5 is decreasing for every ‘x™?

VxER S f(x) = —x® +4ax? + 2x — 5 HD000A0 955700 8HRL S0 ‘@’

Qensen

Options :
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. x (1.2)

No value of ‘a’

‘@’ oB0G), D DeVDTT 9D
4.

Question Number : 73 Question Id : 54473473 Display Question Number : Yes Is Question
Mandatory : No
The distance between the origim and the normal to the curve y = "4 x* drawn at x = 0 is

nnits

x=036y=e" +1" 3508 A wDuottns JreDedod) food o Groay
VSN
Options :

1.332

-t
"'-"‘:'T | |

-
mTl ke

3.¥

Nll—l
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Question Number : 74 Question Id : 54473474 Display Question Number : Yes Is Question
Mandatory : No

dx 1 _ :
If f = — Sec™}(x¥) ,then thevalueof k = __
(.4 k
X (-\- X5 — l)

' ix 1 :
J ,{ = Sec H(x®) wond, k densd
X (\'n'll ):14 —1 :

Options :

Question Number : 75 Question Id : 54473475 Display Question Number : Yes Is Question
Mandatory : No

e*{x-43) 3

Options :

eX*(x +5)° +¢
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Question Number : 76 Question Id : 54473476 Display Question Number : Yes Is Question
Mandatory : No

ST - 2 . _
If J % dx =Tan"Yx) + g(x) + k,then g(x) isequalto

= (X _ 1}2 - .
[ 2 = Tan ) + () ek oo g0 -

Options:

Tan™ ! (%)

Question Number : 77 Question Id : 54473477 Display Question Number : Yes Is Question
Mandatory : No
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1 — (cot x)202 { | -
= . 2023 2023 B
i J’ tan x + (cot x)?%%2 o Elog |(sinx)***° + (cos x)*°**| + ¢, then 4 =

2021

1 — (cotx)
J 12022

tanx + (cotx)

dx = Ilag |(sinx)2%% + (cos x)* "B 4 c wod A=

Options :
1 % 2020

, % 2021

o x 2022

4 2023

Question Number : 78 Question Id : 54473478 Display Question Number : Yes Is Question
Mandatory : No

4
J{lx—2|+|.x'—3|}d."r=

2
Options :

1.331
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Question Number : 79 Question Id : 54473479 Display Question Number : Yes Is Question
Mandatory : No

1/2

f i3 -

~1/2

Options :

210g (/)

1. %

Question Number : 80 Question Id : 54473480 Display Question Number : Yes Is Question
Mandatory : No

q2
The solution of the differential equation P +y=0 is
5
d? y
—3ty =005 DAEGRADIL 6D
¥
Options :

1e Y= 3sinx +4cosx
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3, % y=x+2
4% V= log x

Physics
Section Id : 5447342
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 54473481 Display Question Number : Yes Is Question
Mandatory : No

An electric generator is based on

DS BRTLD BAD B CDEIBR?

Options :

Faraday’s laws of electromagnetic imnduction

F6E DAO[ESODI 0B DO AT
1.¢

Motion of charged particles in an electromagnetic field

:}msmma%m EH300085° e3DID SrTe SOOI
2. %
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Fission of Uramium by slow neutrons
ST Neteblnl m?ggmva 03080k IS, mae;_a

Newton's laws of motion
a‘nge.).% el Aodaren

Question Number : 82 Question Id : 54473482 Display Question Number : Yes Is Question
Mandatory : No

Which of the following decreases. in motion on a straight line. with constant retardation?

28 OF0 D P Gondidnand BdRoY) a8 S0 $ob TS B Devd £ chortody?

Options :

Speed

S
1. ¢

Acceleration

ejsdea:m
2. ®

Displacement

D DToBAD
3. % *®

Distance

n%lePutb)
4. %

Question Number : 83 Question Id : 54473483 Display Question Number : Yes Is Question
Mandatory : No
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When a ball is thrown with a velocity of 50 m.s™" at an angle 30° with the horizontal. it

remains in the air for seconds. (take g = 10 m.s %)

48 BOTE) 28 008D 50 m.5 1308 $82 pAredded 30°5t0 Btk D08 , ¢
208 OS° &od Wv0%0 (fododgebemo g = 10m.s™°)

Options :

1.¢

2 % 2-5

5 % 125

, » 0.625

Question Number : 84 Question Id : 54473484 Display Question Number : Yes Is Question
Mandatory : No

One of the rectangular components of a force of 40 N is 203 N. What is the other rectangular

component?

40 N wodw fo 6 SH0TTE woTor wst) 20V3 N. 8¢ OF DABTTG B3 Jod?

Options:

 « 10N

5> 20N

5 % 30N

25 N
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Question Number : 85 Question Id : 54473485 Display Question Number : Yes Is Question
Mandatory : No

An object dropped in a stationary lift takes time t; to reach the floor. It takes time t, when lift
1s moving up with constant acceleration. Then

8y0 286" 68) 83 Aot SRR 26 DEY 06 FFAI BB RAADY 1. 6
Q6rand 8 ST 8D ol Fradd $6 ddvabin t, wond

Options :

Question Number : 86 Question Id : 54473486 Display Question Number : Yes Is Question
Mandatory : No

When a body 1s placed on a rough plane (coefficient of friction= u) inclined at an angle 8 to

the horizontal. its acceleration 1s (acceleration due to gravity = g)

£ DATodt0d § Enaw R P ) (S Tu0 S0 (206 HRsiN= j)
2 8 SR GotlaEIB. TP Bdrw ( oddaseo = g)

Options:

- g (sinf — pcos @)

. 8 (sin@ — cos B)
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. EH (sinf — cos )

g (usinf — cos @)

Question Number : 87 Question Id : 54473487 Display Question Number : Yes Is Question

Mandatory : No

A metal ball of mass 2 kg moving with a velocity of 36 kmph has a head on collision with a
stationary ball of mass 3 kg. After the collision. if both balls move together. the loss in kinetic

energy due to collision is

36 kmph 3riawd 5B 2 kg o8 $00 28 &' wed, I9wd8" 693 kg
63(0°3 $BA% BAWS w0dS 20arand DNTFEAY Bolod. BHATBAD S6T3 &
Tocky todoen §80 Haired, wdirdo s°mom S6HaND (34

Options :

5 & 60J

1007

4 % 1407

Question Number : 88 Question Id : 54473488 Display Question Number : Yes Is Question

Mandatory : No
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e v . . t?
A body of mass 8 kg. under the action of a force, is displaced according to the equation s = )

m, where ‘t” is the time. Find the work done by the force in the first 4 seconds.

EZ
Bg G308 (o 28 S0P wwo HIBD & S 5 = Fgoto Bododlod. ¢ 636
SREW. 068 4 VoEd” O B8 Babuds DA

Options :

w97

5 @ 1617

. 617

4. % 3J

Question Number : 89 Question Id : 54473489 Display Question Number : Yes Is Question
Mandatory : No

A particle of mass ‘m’. moving with a velocity ‘v" makes an elastic
colliston 1n one dimension with a stationary particle of mass ‘m’.
During the collision. they remain in contact with each other foran £ {----
extremely small time ‘T". Their force of contact. with tume 15

shown 1n the figure, Then F, =

m g3 680 v’ Sdwd Hosreid) w8 sadw ‘m 0
65703 £8 Débv?ge‘.'éeﬁ" 69) a8 dsdad Egagu:;s
DTG0 BR0d. TrEr S8 V000w T’ S 09 wEmrIEED }1}36‘)&‘5‘ &) 0. T

| = 4
a5
-3

SR DR ErONEA. F, ag) BArtdw
Options :
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2muy

4mv
3T

2. ¥

3mv
4T

4, %

Question Number : 90 Question Id : 54473490 Display Question Number : Yes Is Question
Mandatory : No

Which of the following type of wheels of same mass and radius will have larzest moment of inertia?

28 ¢(0°3 Aok mg%‘*gma 500 € S08 @ 650 WTLE (B BES TSN Gotold?

Options :
Ring

1 ¢ o100

Angular disc

5 % IJ;!_ZE“E“Ci ﬂ@’a

Solid disc

L, 2R AN
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Cylindrical disc

ArIEG E}'?;‘;j
4. % @

Question Number : 91 Question Id : 54473491 Display Question Number : Yes Is Question
Mandatory : No

The sum of moments of all the particles in a system about its center of mass is always

Q;ﬁ}gw%‘ Sogio el w8 ;35.::'.(‘536‘ ¥y ST @éﬁému SVGAN YT

Options :

Minimum
53@&.}3

Lero
%még;&m

Maximum
ﬁ&@;ﬁp

Infinite
e9:009 000

Question Number : 92 Question Id : 54473492 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): Two identical trains move i opposite senses in equatorial plane with same
speeds relative to the earth's surface. They have equal magnitude of normal reaction.

Reason (R): The trains have different centripetal accelerations due to different speeds.

DB (A) 1 Toth) REGRSTI200% D00 ot AP &83VIE FDEAWT A
SEwd S{EGDAT BrE0ar SUAVG” HOLPEERIT) Q. ) RATH DB (iR
©dvon Lerv) 98 &) 0

50 (R) : 01D 00 Botd) Bew 206 B ©dSed SO $9A Gotrow

Options :

Both A and R are true and R is a correct explanation for A
A 2008030 R Godirr 20 evowad. R, A £ 289008 dH6e

Both A and R are true but R 1s not a correct explanation for A
A 508030 R o 28 00a). R, A £ 2000108 D506 e

A 1s true. R 1s false
A D0 008, R 28 20008 =2

A 1s false. R is false

4 A DD 9008 TR S0daiw R 20 200208

Question Number : 93 Question Id : 54473493 Display Question Number : Yes Is Question
Mandatory : No

A spring 1s stretched by 0.40 m when a mass of 0.6 kg 1s suspended from it. The period of

oscillations of the spring loaded by 255 gm and put fo oscillations is close to  (g=10m.s™?)

0.6 kg 530 Db &1 0.40 m Fribaseciod. 255 gm w6 B erdfie
Sotoed Ry ag), EuTagd swo (Rwardrr) (g=10m.s7?)

Options :
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1 % 1ls
« 48.6s

3 ¢ 0.82s

486 s

Question Number : 94 Question Id : 54473494 Display Question Number : Yes Is Question
Mandatory : No

A heavy brass sphere 1s hung from a spring and it executes vertical vibrations with period T. The sphere
is now immersed in a non-viscous liquid with a density (1/10)™ that of brass. When set into vertical

vibrations with the sphere remaining inside liquid all the time. the time period wall be

8 ODD 2B H &!joﬁ Ao, Jerchobrd, T wdrand devi) Soamren Bouid) 8.
1/10 3 2P0 Fogdh S@'ﬁf‘b 236 $DAS Avan i)ldeﬁ G G908 AT, ?:J:Jrl
RAOHAVVYAR FFa0 B9 e SodTUR @6 &S, B0 SV Jod?

Options :
9
( 2\
| % 10
9
2 %

Unchanged

4 LTS
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Question Number : 95 Question Id : 54473495 Display Question Number : Yes Is Question

Mandatory : No

A particle is kept on the surface of a uniform sphere of mass 1000 kg and radius 1 m . The
work done per unit mass agaimst the gravitational force between them is

[G =6.67 %107 N.m®.Kg™?]

1m a°5bngan Sodosn 1000 kg @9(0°3 o D268 Hwan 600300 Q6 28 So
aoémdécﬁ. T 6 HoTrEdn werds SBGaorT D508 G§0°32) BOD DA
0850087 [G = 6.67x 107 N.m”.Kg™?]

Options:
3.35x1071° J kg™

1. %

. —335x107%% kg™
6.67 X 1078 J. kg™t
W

—335x10°2 IL.kg™?
4, #

Question Number : 96 Question Id : 54473496 Display Question Number : Yes Is Question
Mandatory : No

The acceleration due to gravity at a height (1/20)™ of the radius of earth above the earth’s
surface is 9 m.s 2. Its value at an equal depth below the surface of earth is

AP G208 GBS0 P Zrd awg) m&&gm@i 1/20 & artian Jdod’ hdersden
SORAIT S0 9 m.5 72, AP OBV oD DA &'’ T Dessd Jos?

Options :
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9 m.s ?

9.25 m.s 2

-
3 v 95 m.s

4 % 9.8 m.s 2

Question Number : 97 Question Id : 54473497 Display Question Number : Yes Is Question
Mandatory : No

The Youngs modulus of a rubber string of length 12 cm and density 1.5 kg.m ™ is

5 % 108 N.m 2. When this string is suspended vertically. the increase in ifs length due to its
own weight is (take g = 10 m.s7%)

12 cm T&, 15kg.m™> o $BA% 28 6,6 B cog), aBoh DS

5% 10° N.m™". 08 Y Herddabnddd. o) Jod erdaw 0 o’ 04
Focse (g =10 m.s % Sto€od )

Options :
: 10—10
| 2.16 X 10 m

L x 96X1071 m

L% 96X107% m

216 X107 m
4, %
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Question Number : 98 Question Id : 54473498 Display Question Number : Yes Is Question
Mandatory : No

The lower end of a capillary tube is dipped into water and it is observed that the water in
capillary tube rises by 7.5 cm. Find the radius of the capillary tube used. if surface tension of

water is 7.5 X 1072 N.m™? Angle of contact between water and glass is 0° and acceleration

due to gravity is 10 m.s

w8 B398 AR08 S0 D36 DS 00D\ SITSE DS ArePs G300 A
7.5 cm. 8 Gws), B03R(® 7.5 X 1072 N.m™! eand, $870¢ dng), a@ugo (D& e
2% 0y6,8dw 0° 28w g=10m.s™*)

Options :
0.2 em

1. %

5> % 0.1 cm

3 % 04 mm

4V 0.2 mm

Question Number : 99 Question Id : 54473499 Display Question Number : Yes Is Question
Mandatory : No

An ideal liquid flows through a horizontal tube of variable diameter. The pressure 1s lowest

where the

28 560, TN 008 TR $0A% 28 £ RATed6 LMD TP(T” DIPRVD) &,
Do ) ¢ B8 I Gotnd?
Options :

velocity 1s highest

D150 BB &0
1.4

AP EAPCET 2021



AP EAPCET 2021

velocity 1s lowest
D150 oo &) S

diameter 1s largest
T RS Qg aélzﬁ%

velocity is intermediate

Folglubt) L0ERB0T %1’5:11:56&3
4, % ®

Question Number : 100 Question Id : 544734100 Display Question Number : Yes Is Question
Mandatory : No

In a steady state. the temperature at the end A and end B of a 20 cm long rod AB are 100 °C

and 0 °C . The temperature of a point. 9 cm from A 15

20 cm e o AB sé AoEE: ?gw &%) e, §3 A 3¢ 100 °C 8ok €% B 3¢ 0°C
eg;je:s &)8. A dod. 9 cm Dotio 3¢ egﬁge:&

Options :
BRE

1.4
45 °C

. 65°C

50 °C
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Question Number : 101 Question Id : 544734101 Display Question Number : Yes Is Question
Mandatory : No

If two rods of lengths L and 2L. having coefficients of lmear expansion a and 2« respectively are
connected end-to-end. then find the average coefficient of linear expansion of the composite rod.

L Sobodn 2L ﬁ“ci;))w £DA% Both Sév CﬁJJSb Qg)é J"ﬁ © easten SR a <foin 2a.
895) Botil WAGL DOV LeNDCS €3 e;uéd sé RN Qgﬁ ms%”::: 880 aodh?

Options :

3

Question Number : 102 Question Id : 544734102 Display Question Number : Yes Is Question
Mandatory : No

A system 1s taken from state-A to state-B along two different paths. The heat absorbed and

work done by the system along these two paths are Q ,Q, and Wy , W, respectively. then

2,8 ;ﬁﬁb{g A o) iﬂg@ Aot B o ?g@é G0t DG HrT°0 &0 VN DHREID. &
0o 7T &0 (POt 620 0ok ;35;:"%} B BODLGA DAL SERT Q;, 0,
S0ako W, , W, eeond

Options :
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% Q1 =0Q:

9 % W]_:Wz

3 ¢Q1_W1:Q2_Wz

g 1 TW =0 +W;

Question Number : 103 Question Id : 544734103 Display Question Number : Yes Is Question
Mandatory : No

A gas (y = 1.5) is suddenly compressed to (1/4)™" its initial volume. Then find the ratio of its
final to nitial pressure.

y = 1.5 89R% a8 Traind a;sbb"ﬁn" &9 29080 Aol (1/4) Sodhosy

208 DonREH6. wond du, 89 HéTw 20655 0 i@ o?

Options:
1:16

Question Number : 104 Question Id : 544734104 Display Question Number : Yes Is Question
Mandatory : No
AP EAPCET 2021
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A cylinder has a piston at temperature of 30 °C, There is all round clearance of 0.08 mm between the
piston and cylinder wall if internal diameter of the cylinder is 15 cm. What is the temperature at
which piston will fit mto the cylinder exactly? (e, = 1.6 X 107°/°C anda, = 12 X 107°/°C)

30°C bc@:ﬁ 25 ;gm;m 28 AVRVEVD (33‘@5) <9 &él&. 15cm 99 J"S’cohn e 'QJ":J:IJJ
Atod), AnwsAs 06 ?ﬂbl DT i a9 0.08 mm. Jod &g’o@ 3¢ A0Rpso AP
'8 "n)ﬁg" olah il ; ({Ip =16X 1{]_5/ °C anda, =1.2 X 10_5/ °C)

Options :

1 ¢ 298 °C

271376

3 % 305°C

4 % 268°C

Question Number : 105 Question Id : 544734105 Display Question Number : Yes Is Question
Mandatory : No

A balloon contains 1500 m® of He at 27 °C and 4 atmospheric pressure. the volume of He at

—3 °C temperature and 2 atmospheric pressure will be

27 °C 208050 4 eI G HIW D6 s e 1500 m* He Jrodnag)av S@ﬁoﬁnb&&.
~3E egﬁga L8080 2 TEH0E DS 26 He T0ine) 200000

Options :

| x 1500m?

3
5 % 1700 m
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- i
3 % 1900 m

3
4 2700 m

Question Number : 106 Question Id : 544734106 Display Question Number : Yes Is Question
Mandatory : No

The sousces of sound A and B produce a wave of 350 Hz in same phase. A particle P s vibrating
under an influence of these two waves. If the amplitudes at P produced by the two waves 1s 0.3 mm

and 0.4 mm. the resultant amplitude of the pomnt P will be. when AP — BP = 25 cm and the

velocity of sound is 350 m.s 7%,

Bt 65 28500 A 200050 B e 28 ¢538 350 Hz 20 S0omomd 6d\d
BRT) 0. Got) SorT QEPHAS w8 5@ P godrren B0, AP — BP = 25 em
20805 ¢ Srfaan 350 .5~ 0RE, P Dociaig) 36 Botkd BGorme) Sadid HBetown
0.3 mm 08080 0.4 mm e9o0d, P Dotdad) 96 208 2003 HBA Nod?

Options:

1 % 0.7 mm

0.1 mm

0.2mm

0.5 mm
4.

Question Number : 107 Question Id : 544734107 Display Question Number : Yes Is Question
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Mandatory : No

In a diffraction pattern due to a single slit of width “a’. the first minimum s observed at an angle
30° when light of wavelength 500 nm is incident on the slit. The first secondary maximum i

observed at an angle of

20y ‘a’ $B09 g DS 0 Do\AS D3gd D', DBE e 500 mm Soli38.0 fi0
50 DSIRAYED, 30° Eeacdo 56 20068 sagv:)l H090otran. 2GS, Bodd riagvm AR
£ dotd?

Options:
sin~!

1
1. ® 2

sin 1

3
2. 4

oo
sin~ 1 —
%

sin~

Question Number : 108 Question Id : 544734108 Display Question Number : Yes Is Question
Mandatory : No
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Which statement(s) among the following are incorrect:
(1) A negative test charge experiences a force opposite to the direction of the field.
(11) The tangent drawn to a line of force represents the direction of electric field.
(111) The electric field lines never mtersect.
(iv) The electric field lines form a closed loop.
& $0BT°” 2B TS0/ TE(D 2)?
(1) 28 2006 Doty B3IV ETAS ;35936&,: &%6° 2030 H Botua
(11) 208 3&}5@ 0o B0 AdD 60, g C 363355 £ B3 ArDed
(1i1) e)e) BeD 2EEAE €8 PoclothE D)
(iv) DS Wv Been Vod)d APV DG \WFaD

Options :
(i) only
- (i) S

(ii) & (iii) only
, o () & (iif) 3@

(iii) only
L v (i) 2rgd

(iv) only
4 o (V) Brgd

Question Number : 109 Question Id : 544734109 Display Question Number : Yes Is Question
Mandatory : No
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In the given circuit, if the potential difference between 4 and B 15 80 V. then the equivalent

capacitance between A and B. and the charge on 10 pF capacitor respectively, are

D08’ BrHEGH Heobeds” A oot B o JJGSZS ﬁ“ﬁgoﬁﬁ S50 80V wond A, B o
Socs§ 0w SO0y B0 10 uF Srtd D3 55322 DAL SERIT

i

12uF 10

_.B

Options :
1 v 4 uF & 133 uC

,  164pF & 150 uC

L 150F & 2004C

4% 4 uF & 50 uC

Question Number : 110 Question Id : 544734110 Display Question Number : Yes Is Question
Mandatory : No

A cell of emf 1.8 volts gives a current of 17 A when directly connected to an ammeter of

resistance 0.06 0. Internal resistance of the cell 1s

1.8 volts 3)513553@&‘. 20AD £9A HueAnd Adr 0.06 0 BB OAD whzéé.)d}&‘o
RoTRan B 17 4 3@5@ DT FRV0E. 208N mézj E.‘Joejﬁ;lﬁﬁt;’);ﬁ:u odh?

Options:

AP EAPCET 2021



AP EAPCET 2021

1@ 0.046 Q)
0.066 Q)
0.10

10 0

Question Number : 111 Question Id : 544734111 Display Question Number : Yes Is Question
Mandatory : No

In which of the following case no force exerted by a magnetic field on a charge?
& 300 D Vo0 208" oD 08 330 B 853520 LV VAT Houiecd?

Options :

Moving with constant velocity
0 Driad B0 Dy

Moving in a circle
DT TG G208 DD

Atrest
SENE g@é‘s €530 D¢

Moving along a curved path

DY HIrGa0es” ﬁ@‘ﬂ}:ﬁi@ﬁd}
4, % o -
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Question Number : 112 Question Id : 544734112 Display Question Number : Yes Is Question

Mandatory : No

A long thin hollow metallic cylinder of radius R has a current i ampere. The magnetic induction

B away from the axis at a distance ‘r” from the axis varies as shown i

R m}g%“gm gORD 28 Haudd &'en &Y R0 ot | o0 © NS
Qéﬂ?@é&&. @ 9530 Aok 77 Brdans” &) Do) ;jcg &Gol: woﬁjﬂ“boé 2060 ‘B’ &
& 306 26" D6 Ardn) 67

(1) (11 () (iv)

r

Options :

NG

, x ()

, s (i)

4w @)

Question Number : 113 Question Id : 544734113 Display Question Number : Yes Is Question

Mandatory : No
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The plane of a dip circle is et i the geographic meridian and the apparent dip 15 6;. It 15 then

set in a vertical plane perpendicular to the geographic meridian. The apparent dip angle is 6.

The declination 8 at the place is

w8 0TS B3 Surd) FHVS Arar(ds Soins” eeddiYytd i vdFd Sndw 6,
B0 T $82 Vo BVANY” FHYE OFAT(BE BLrIS VORI GoDRRYYE &
Gy 09T S St §, ond & HBEAN 96 B B 6

Options :

- tan !(tané; tand; )

tan”}(tan 6, + tand, )
2. %

tan—1 (tan a1 )

3 tan é;

. tan *(tand; — tané, )

Question Number : 114 Question Id : 544734114 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): It is more difficult to move a magnet into a coil with more loops

Reason (R): This 1s because emf induced i each current loop resists the motion of the magnet

DB (A): 9 LDy § &) S EG°AS wah) odod Soud e Sk
50630 (R): QocBSRAIT 2,8)8) UP)S” HBS500% &) v &) LOLF] 0B BT Aot

Options :

Both A and R are true and R is a correct explanation for A
| A 2508030 R Botr DOGHAD. S08030 R 0938 A § 28D D6
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Both A and R are true but R is not a correct explanation for A
A S08aiw R Godr 2BADAD, O R 038 A & DO DG 5o

A is true, R 1s false
A 280008, 520 R %8 5o

A 15 false. R is true
A %8 5760 579 R a8

Question Number : 115 Question Id : 544734115 Display Question Number : Yes Is Question
Mandatory : No

Two inductors 4 and B when connected in parallel are equivalent to a single mduetor of inductance
1.5 H. and when connected in series are equivalent to a single mductor of inductance 8 H. Find the

difference 1n the inductances of 4 and B.

A 2005 B, Both 05701 i3rosio M) $080w S36°A Romain BAMY® 8
on08), D68 st Dewideo KA 15 H daty 8 H. wavd 8 dosoro Hi

Options :
1 % 3H
2 % 75 H

3 % 2H

4 v 4H

Question Number : 116 Question Id : 544734116 Display Question Number : Yes Is Question
Mandatory : No
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A resonant frequency of a current 1s “f”. If the capacitance 1s made four times the imitial value,

then the resonant frequency will become

2,8 HOHAD CINE), BTG ﬁ“é:;’qybisam f. 306 g, Jenddy §8 dewds) 4 Bkw
Badd, T 3"6‘)@3’3_‘)?{3,5;51) Da0r?

Options:

f

1.v 2

2f

Question Number : 117 Question Id : 544734117 Display Question Number : Yes Is Question
Mandatory : No

The law which states that ‘a variation m an electric field causes magnetic field’. is

DS ES308'D Aoy oI 0d EG7I) Surf S 0 & Sobd I AW
2DoiSi008?

Options:

Faradavs law
- FEE DaHSosAw

Bio-Savart Law

. EI0508)-2056 Lol S0aSw
2. 'S
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Modified Ampere’s Law
P HBotHRICR 83000306 Do

Lenz’s Law

, Do Daposw

Question Number : 118 Question Id : 544734118 Display Question Number : Yes Is Question
Mandatory : No

Radiation of wavelength 300 nm and intensity 100 W.m™* falls on the surface of a
photosensitive material. If 2 % of the incidant photons produce photo electron. the number of

; : 7 ;
photoelectrons emitted from an area of 2 em” of the surface is neatly

300 nm éﬁoﬁ@%&i&) 20805 100 W.m ™ B8 (fo 3w JE ‘&Pi&gﬁ"S E’Jm"g
0BV HENB. 2 % 8% Terden T s &o\8 B298, 2 cm” DTV
(0 GDBB0A Aol WATGT I T JUF &r0H?

Options :

15 x 10*
3

14
5 6.04 x 10

15x 10*2
3. %

15
4 % 60.4 x 10

Question Number : 119 Question Id : 544734119 Display Question Number : Yes Is Question
Mandatory : No
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2 ) i 0 Ke : .
Potential energy between a proton and an electron 15 given by U = = then radius of Bohr’s

orbit can be given by

Ke?
IR

w8 TP H0Bok) 2,8 ATV A 20038 U =
353‘8.‘.1;3 .

04 fabsea&.a&. 65’6 S8 aios),

Options :
Ke?m
x N

6miKe?m

n3h2

2m Ke’m

n h2

Am?Ke?m

n2h2

Question Number : 120 Question Id : 544734120 Display Question Number : Yes Is Question
Mandatory : No

A transistor 1s connected i common emitter configuration. The collector supply is 8 V and the
voltage drop across a resistor of 800 Q in the collector circuit 1s 0,5 V. If the current gaim

factor ‘a’ 1s 0.96. the base current 1s

28 DBFS00 &;ﬁ)&d &g’d !Da"?s"conmﬁﬁ RO BFA. S0 Svahaw 05V &
DBEA 800 O Mot Sga S0 Sobain 2568 20T 8 V. 3(6.)5@ DT> oY
(008D ‘@’ Qe 0.96 Lond sged 3@56 DTTAN

Options :
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-5
1 26X10 " A4

-5
> % 36x10 " A

-5
3 % 56 x10 " 4

-5
4 % 6.6 x10 " A

Chemistry

Section Id : 5447343
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 121 Question Id : 544734121 Display Question Number : Yes Is Question
Mandatory : No

If two particles 4 and B are moving with the same velocity, but wavelength of A 15 found to be
double than that of B. Which of the following statements are correct?
A 08050 B 093 Both &) DTS drod a%oma‘l:). A sy, édor@g,go B aws)

BOOTET A 3Ei0x) B0, $08 DIBTVS” IB Juaw?
5§ &

Options :
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Both 4 and B have same mass
A0baiw B o @;5c~=m ESPo bl Pab )

Mass of 4 1s half thatof B

A ¢33, B Q;ﬁsn"%‘e.‘i“ 29580
2. ¢

Mass of B 1s half that of 4

B @203, A @;ﬁy‘*%‘é‘ FSTafe bt
3. %

Mass of B 1s one-fourth that of 4

B @203, A g;551:°%’e.3‘ TS Dok
4, %

Question Number : 122 Question Id : 544734122 Display Question Number : Yes Is Question
Mandatory : No

The spectrum of Helium 1s expected to be similar to that of

oo HEHIE FEPDIOT &) DGDL0
&3 &

Options :

4
1 Li

2. %

Na

He®
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Question Number : 123 Question Id : 544734123 Display Question Number : Yes Is Question
Mandatory : No

On the basis of Bohr's model. the radius of the 3™ orbit is

&6 DOITED DIVPTD ILFOEDE, 3D S£§ AL, aﬂéb“gmo

Options :

Equal to the radius of 1% orbit
15 sy ;:“55“3“:}% RAT DA

3 times the radius of 1% orbit
15 8£5 To(RPTPS 3 Be0 DATDAW

5 times the radius of 1% orbit
15 845 TS 5 860 RAFDAW

O times the radius of 1% orbit
15 85 F&.ﬂ“g’ﬂé 9 B DATDID

Question Number : 124 Question Id : 544734124 Display Question Number : Yes Is Question
Mandatory : No

To which group of the periodic table does an element having electronic configuration
[Ar] 3d°4s® belong?

28 Brugo A10E), JUFS Dfe [Ar] 3d°4s” rm DA &) 6. T 36 D'
ArDe’ SrErusw.

Options :

Second
Ootisd

1. %
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Fourth

5 % e

Seventh

3 ¥ DD

Third

e SOTED

Question Number : 125 Question Id : 544734125 Display Question Number : Yes Is Question
Mandatory : No

Given that 1onization potential and electron gain enthalpy of chlotne are 13 eV and 4 eV

respectively. The electronegativity of chlorine on Mulliken scale. approximately equals to

£05 dweg), MBI Jorrdy 0a QT | Jofe SARMF 13 e Sbokw
46V o S0dsd Yy s’ £85 aR08), aweEES) 8

Options :

 x 85eV

6.0 eV

3 @ 3.0eV

4% L5eV

Question Number : 126 Question Id : 544734126 Display Question Number : Yes Is Question
AP EAPCET 2021
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Mandatory : No

Which of the following represents the correct order of increasing electron gain enthalpy with
negative sign for the elements?

a. Nitrogen

b. Phosphorous
Chlorine

L]

d. Fluorine

& S0l VTR QUFD T ;)o::;rg)bv sBrn $arud’ KBEHHG AG?
a. B )
b. 63
C. g&&

d. @ﬁﬁé
Options :
P& N F< €l

1. &

5 N < B F < El

Cl< F=—Px N

4 % Ex2Cl<N=pP

Question Number : 127 Question Id : 544734127 Display Question Number : Yes Is Question
Mandatory : No

Which of the following will have maximum dipole moment?

0l T0S° DB B[O AEID EPDOSI sdh &) & ?

Options :
1. %
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P"JrFE

. NCl

NB?_E

i/ P'UFHE

Question Number : 128 Question Id : 544734128 Display Question Number : Yes Is Question
Mandatory : No

In which of the following molecules/ions. the central atom is sp? hybridized?
S0 BIWERD BrnL/ Borwe’, So HEAFID) sp’ VesBESRIY BB DB?

BF; ,NO; ,NH; ,&H,0

Options :
NH, ,& H,0

1. %
. NO3 &H,0

BF; & NO;

. No; NH7

Question Number : 129 Question Id : 544734129 Display Question Number : Yes Is Question
Mandatory : No
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Cl CN OH SH

For which molecules among the following. the

resultant dipole moment (i) # 07

S0 xS DDA BeSerdge (1) # 0
Cl CN OH SH

(i (ii) (iii) (iv)

©a3] BEVYVAD HBorh.

e

Options :
(iii) & (iv) only
- (i) & (iv) g

(i) & (ii) only
L« @ & (i) arg

(ii) & (iii) only
3 % (i) & (iii) Sroddo

(iv) only
4w (iv) g

Question Number : 130 Question Id : 544734130 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following graphs correctly represents Boyle’s Law?

S0t Ggr DSS00E ero® JoHATIS LRV )2 D3)?

P PV PV PV

. »
L *

(a) (b) (c) (d)

Options :

(a),(b) & (c) only
e @,0) & (0 are®

(b) & (c) only
, v () & (0) srgd

(c) & (d) only
s« (© & (@) Brgd

(b) & (d) only
(b) & (d) &rgo

4. %

Question Number : 131 Question Id : 544734131 Display Question Number : Yes Is Question

Mandatory : No

The density of an ideal gas can be given by . Where P,V, M, T and R respectively

denote pressure, volume. molar-mass. temperature and universal gas constant.

w5 6T oo 2¢D0, DDA, Arerd @;550“9, egﬁrjej s0Bodn
;r'oinf‘gmosaww SER™ PV, M, T 208030 R €008, 8 T0i0d) Fodd

Options :
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PM

PV

RT

RT

Question Number : 132 Question Id : 544734132 Display Question Number : Yes Is Question
Mandatory : No

When 20 g of CaC 05 1s treated with 20 ¢ of HCL. the mass of €0, formed would be
20g 0 CaC0; $.20g 0 HCL & w6] 2000 Dd;jcia €0, aws), gal{p%

Options :
10 g

Question Number : 133 Question Id : 544734133 Display Question Number : Yes Is Question
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Mandatory : No

Which among the following species acts as a self-indicator?

20 2rctowes’ DD Qoo ATDST DJBoI?

Options :

1. % Mot

2. %

.
3 % {.TEO?

4 MnO,

Question Number : 134 Question Id : 544734134 Display Question Number : Yes Is Question
Mandatory : No

If a chemical reaction is known to be non-spontaneous at 298 K but spontaneous at 350 K.
then which among the following conditions 1s true for the reaction?

28 oD 11565 298K ;::cmﬁ ‘rbsé‘)odor‘!“ 20650, 9 350 K ég} "a)St‘.‘Jl)odon" 200A.
O3, & BO(S $od T8 D6 dxe?

Options :

_— AG = —ve, AH = —ve, AS = +ve

AG = +ve, AH = +ve, AS = +ve

3 ¢ AG = —ve, AH = +ve, AS = +ve

AP EAPCET 2021



AP EAPCET 2021

. AGG = +ve, AH = +ve, AS = —ve

Question Number : 135 Question Id : 544734135 Display Question Number : Yes Is Question

Mandatory : No

Standard entropies of X , ¥, and X1; are 60,40 and 50 I/K/mol respectively. At what

temperature the following reaction will be at equilibrum

X, , Y, 080 XT3 © 7 doden WA 60,40 80k 50 J/K /ol exawd Sof ud|
T 236" Gotot Jod a8 030607

X, +=1, 2 X6 Al = =30k

Options :
500 K

1. %
, v 750K

L« 1000K

, = 1250K

Question Number : 136 Question Id : 544734136 Display Question Number : Yes Is Question

Mandatory : No
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. 1 \
For the reaction § 0y ot = 0y i 504 4 the percentage (50, p
yield of product at different pressures is shown in the figure, yield ;:A'2
Then, which among the following is true? s A
1 2 T
$035) + 5 025y = S0, 03 O(8" &) Sw A

FEAW DD T e D0ANE" WrHLENB. Sob THE" Q dos NIIG?

Options :

Pressure has no eftect
1w DED DIPHHN S0t

233 PI{TPE{:PE

Ly PL>P> P

433 P]_:PEZPE?ID

Question Number : 137 Question Id : 544734137 Display Question Number : Yes Is Question
Mandatory : No

Which among the following denotes the correct relationship between K, and K, for the

reaction 2 A{..g} m B{gj + C{.gj

. P
(g

@) + C(g) tf)C‘.lTSSJ K, 20bain K. © :DC;}IS oot

)

Options :

1'23.’(?::-}{,:
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2
3 % Ke = (Kp)
4V K, = K,

Question Number : 138 Question Id : 544734138 Display Question Number : Yes Is Question
Mandatory : No

Which metal oxide among the following gives H,0, on treatment with dilute acid?

208 IS D ' 53160 D20 8008 WETADNDD H,0, S0ireHdy?

Options :

1« BaO,

, « RDO;

3 % MnO,

Question Number : 139 Question Id : 544734139 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): K. Rb and Cs form superoxides

Reason (R); The stability of superoxides increases form K to Cs due to decrease in lattice energy.

N30 (A): K. Rb 208akn (s e ardb 85 G0 an)d)tmm.
s6naw (R): s 38¢° drbde o0 K Aod) (s H68 fgdéSO DM,

Options :
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Both A and R are true and R 1s a correct explanation for A
A S0Bain R Gotir 2O, 00030 R 938 A & 2BADD DSH6e

Both A and R are true but R 1s not a correct explanation for A
A 208050 R B0l 2803, 5°D R 938 A § 28000 DH6e 5760

A 1s true, R is false

L, Avese, 5 R 28 5760

A 1s false. R 1s true
, o AR TW®, =0 R 280058

Question Number : 140 Question Id : 544734140 Display Question Number : Yes Is Question
Mandatory : No

When borax is dissolved in water. it gives an alkaline solution. The alkaline solution consists

the following products

08130 S’ SBAOIT B0y T TPIBANS’ G0t BT

Options :
1 % NaOH & BH;

, , NaOH & H;BO,

.« NaHCO; & H3BO;

, % NaxCO3 & H3BO,
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Question Number : 141 Question Id : 544734141 Display Question Number : Yes Is Question
Mandatory : No

Identify (P) and (Q) in the following reaction:

Cu—powder H,0
CH3Cl + Si (P) (Q) Straight chain polymer
570K

& S0 tﬁdﬁ@ﬁ (P), (Q) S8

Cu—Fé H,0

CH;Cl + Si (P) » (0) » DOY B0 FD06

570 K
Options :

. P:(CHy),SiCl  Q:(CHy),SiOH

, o P:(CH3),SiCly  Q:(CH3),Si(OH);

P: (CH3),SiCl, Q:(CH;),Si(0OH)CI

P: (CH3),SiCl,  Q:(CHs),Si0

4, %

Question Number : 142 Question Id : 544734142 Display Question Number : Yes Is Question
Mandatory : No

Green chemistry refers to reactions which

B8 GFADIE TRANDL VoroHodd Diabo

Options :

1.4
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reduce the use and production of hazardous chemicals
DATEEE GFODTL BAIFE 2OBCKD DA Bhoroe

study of the extremely slow reactions
9310 & B[R DBVt

are related to soil erosion
oy Sevdy S 2 £00005 DotioBot)d Dairen

Study of green leaves
€55 DE3D VR DBIDocio

Question Number : 143 Question Id : 544734143 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Sodium acetate on Kolbe's electrolysis gives ethane.

Reason (B): Methyl free radical 1s formed at cathode.

8\ (A): Peaso e §& D BoE OB B 61,
S0R0 (R): SEE 36 DFS Ty FE0BS V1.

Options :
Both A and R are true and R is a correct explanation for A
A H0Bain R Godir HHADDD. 08030 R 0998 A § 2BADD DH6es

Both A and R are true but R is not a correct explanation for A
A 208030 R Sodr 00X, SO R 938 A & 20800 D66 57

A is true. R 1s false
A 2BEDHO, T2 R 90 5760
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A is false. R 1s true
, A8 =@, 50 R DO@HS

Question Number : 144 Question Id : 544734144 Display Question Number : Yes Is Question
Mandatory : No

When difference in boiling points of two Liquids 15 too small. then the separation is caried out by
wﬁlﬁm ,g“mu G] AT 18 ) D &) Gott) GaTud S0Bkd) __ oo adnddy

Options :

Steam distillation
20 273 i::ﬁc:&émo

Simple distillation
oo NI

Fractional distillation
e9078 fasc:ﬁé;‘.m

Vacuum distillation
2)0“591’9 i}gc:&a‘umg

Question Number : 145 Question Id : 544734145 Display Question Number : Yes Is Question
Mandatory : No
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In Lassaigne’s test for halogens. it 1s necessary to remove ‘X" and ‘Y" from the sodium fusion
extract. if mitrogen and Sulphur are present. This 1s done by boiling the extract with ‘Z".
Identify X. Y and Z.

g6y :o;fué%oe‘i‘ SFSRDOE P, PERD M 2016 A G Tocd T &) owd,
6 S0 rgo Botibid Deorr, daird 55 Féabo iy 6 Sdraio &od X
20808 1" 0 Sooiind Srasrdy ‘7' § 208D, X,V 208080 Z e S8k

Options :

X =NaNO; , Y =Na,504 , Z =conc. HNO;
1 % X =NaN0O; , Y =Nay;50,4 , Z =G HNO,

X =NaNH, , Y = NaSH , Z = conc. HCI
X = NaNH, , Y = NaSH NE=mrailcl

X=Na;NO; , Y =NaS503H , £ = conc. H;,50,
X =Na,NO, , Y=NaS03H , Z =& H,50,

X =NaCN , Y =Na,S , Z = conc. HNO,
X =NaCN , Y =Na,§ , Z =tr& HNO,

Question Number : 146 Question Id : 544734146 Display Question Number : Yes Is Question
Mandatory : No
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The following effect 1s known as

2od 15556‘ Do 7 @aDHOIIN.
® @

L C—C/
v | ™

H

E— —

@ N9 >
] |‘*-

Options :

Inductive eftect
20DS Herdo

Electrometric effect

D005 HerHdo
2.4 F

Resonance effect
CEAPSISIEOTA ST

Hyperconjugation
€98 f-aoo:‘umé;ﬁp

Question Number : 147 Question Id : 544734147 Display Question Number : Yes Is Question
Mandatory : No

Which of the following will form an ideal solution?
BG5S daeewes” D 2ok S, AT GBI ?
Options :
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. CHsOH & Hy0

, « HNO; & Hy0

_ CHCly & CH3COCH;

, o Colls & CoHsCH

Question Number : 148 Question Id : 544734148 Display Question Number : Yes Is Question
Mandatory : No

The molal elevation constant is the ratio of Elevation in boiling point to
rerd &) D TP0S:A), 3;“3333;5;5& b i) Eé‘laé beSlelontV! S Ao A3
@ ® ~

Options:

Molarity

ATerHe)
1. %

Molality

5 @ e

Mole fraction of solute
. T 2075 A

Mole fraction of solvent

Troed AT erriaa
4. %
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Question Number : 149 Question Id : 544734149 Display Question Number : Yes Is Question
Mandatory : No

When a current of 10 A 15 passes through molten AICI; for 1.608 minutes. The mass of Al

deposited will be [Atomic mass of Al = 27g]

dod AlCl; oqoe 10 4 Dc&:}g& DTSy 1.608 QAN PIPeDd B THDED Al
Q;ﬁém%‘ [ Al Qaﬁ)&m%‘ =27¢]

Options :
1 ¢ 0.09 g

0.81 g

Question Number : 150 Question Id : 544734150 Display Question Number : Yes Is Question
Mandatory : No

The molar conductivities (ﬂfn) at nfinite dilution of KBr, HBr and KNH, are 120.5. 420.6

and 90.48 S cm?® mol™* respectively. Find the value of A?,l for NHs.

w0 DBdo 36 KBr. HBr 800 KNH, © 356 rirseo (1) Dewden Scorr
1205, 420.6 30005 90.48 § cm? mol™" €00 NH; ag) Ay, do?

Options :

1 % 511.0 § em® mol™*

2 -1
. 390.5 S cm* mol
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w 256.2 S em? mol™?t

4 % 2409 S em® mol™?t

Question Number : 151 Question Id : 544734151 Display Question Number : Yes Is Question
Mandatory : No

If the rate constant for a first order reaction is 2.303 X 107 s™*. find the time required to

reduce 4 ¢ of the reactant to 0.2 g.

28 DB S0 1| ), B0 Hroso Devd 2303 X 107 s 4 Satradean 02 g
$airaSorr AFELL HE) Ao

Options :
1.30 hours
1.30 Gotien

21.60 hours
21.60 ol

0.36 hours
0.36 Hoted

2.60 hours
2.60 HBotoen

Question Number : 152 Question Id : 544734152 Display Question Number : Yes Is Question
Mandatory : No
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A plot of log(x/m) verses log(P) for adsorption of a gas on a solid gives a straight line with a

slope of

88 DIVDEGIND 08 TI0Y BB w0 Both HIADL HoroBodd log(x/m) ok
log(P) © a0g), Bariddo 2,8 AEVER. T T £ AT

Options :

1 % —logk

5 log(1/n)

1

3#?1

. antilog(1/n)

Question Number : 153 Question Id : 544734153 Display Question Number : Yes Is Question
Mandatory : No
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Match the following compounds with their corresponding physical properties:

Column-I Column-II

(a) IBr (1)  Orange solid

(b) ClF; (1) Yellow-green liquid
(c) BrF; (11) Black solid

(d) ICl4 (1v) Colorless gas

Sod fa;ﬁsmda Eb;i.)yéa’um TS DODE FHE r;jc“ée.:u-z'f 23B0302A0.

otR-1 wdom -11
(a) IBr (1) Doz Gofld D0& :JB"go
b) CIF (1)  DRVQY — DDy B0
() BrF; (111) ey dod ;né:::m“go
d ICL (1v) CoMO Jrai:)
Options :
L (a—ii),(b=1),(c—iv), (d—iii)
5 % (a—i),{b—iii),(c—ii),(d—iv)

- (a—iii),(b—iv),({e—ii),(d—1)

4w (a—iv),(b—ii),(c—i),(d—iii)

Question Number : 154 Question Id : 544734154 Display Question Number : Yes Is Question
Mandatory : No
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What is coordination of the metal in [Co(en),Cl;] 7

[Coen),Cl;] &° &°5v2 DOBTTL) DI o8 Jod?

Options :

1. % 3

Question Number : 155 Question Id : 544734155 Display Question Number : Yes Is Question
Mandatory : No

A compound A 1s used m paints instead of salts of lead. Compound A 1s obtamed when a white
compound B 1s strongly heated. Compound B is insoluble in water but dissolves in NaOH
solution forming a solution of compound C. The compound A on heating with coke gives a
volatile metal D and a gas E which burns with a blue flame. Identify the possible species D

and C can be respectively?

T VTV LERT 25 DV FAID A & 2000’ TEOTWH. B o) 80
PPy SR 3¢ B3 A & Toddioyw. B S’ 00 5 NaOH grdmnd”
SO € R 2,8 30 FRAN TR DEHHRL. 4 ¥ ) EE dvgane’ B¢
SRRy w8 iy dd Srdw D & 8akw B dord 2o ot w8 Tasw) £ &
PENRD. D 208050 € 00 foBotSod.?

Options :

| % D—Hg C—Hg (0OH),
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. D—Cd C—Na,[Cd 0,]

v D—Zn C—Na, Zn 0,
3. v

D—Zn C—Zn(0H),
4. %

Question Number : 156 Question Id : 544734156 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction.

& Sod ATtow)AD t:ﬁdgﬁc' &) o DE?

H+
(CeH1005), + nH,0

W

393 K
Starch

2-3 atm
%

Options :

Fructose

o8

Glucose

&8
2.9

Lactose

3ﬁw§£

4, %
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Maltose
AreS'E

Question Number : 157 Question Id : 544734157 Display Question Number : Yes Is Question
Mandatory : No

The number of optical isomers possible for 2 — Bromo 3 — Chloro butane are

2 —gar 3 - 88 ard doydurie )8 Fay#se doa

Options :

1.338

5 % 10

Question Number : 158 Question Id : 544734158 Display Question Number : Yes Is Question
Mandatory : No

During the action of enzyme “Zymase”, glucose 1s converted info . with the liberation of carbon

dioxide gas,

P83 D B8 doBD &0 6] H0 TS GeB\E Tokw AGLS FE DGR

Options :
Phenol
SyT°e5

AP EAPCET 2021



AP EAPCET 2021

Ethanol
ReSeS

Methanol
s 3e5

Isopropyl alcohol
DIT RS ) FeS

Question Number : 159 Question Id : 544734159 Display Question Number : Yes Is Question
Mandatory : No

The total number of products formed in the following reaction sequence is

& BFas 56 E20A08° ©Bodd GOYTR 02| Jodd?

i) (CHz),Cd .
cH,cocl —2 (P)

| ii) NaOH {aq). &
(P) + CH,CHO 9

Options :

Question Number : 160 Question Id : 544734160 Display Question Number : Yes Is Question
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Mandatory : No

In the following reaction sequence, 1dentify product ‘Q’ and reagent ‘R

2od tﬁdﬁé‘ () 20Bodn R wo S

Me B (i) Mg / Ether R % Cl
r 5 NS
\—E—/_ . > ( ——— Me"S W
(iif) Hy0* 0

Options :

Me _ =COOH .4 socl,

R
ME/\y\/\[r[}H and SOECIZ
2. # O
Me——/cooy and SOCl,
3. %
Me — _ ,—COOH .44 CH,S0,Cl,
4. % R
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